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Topic:- Child Development & Pedagogy (CDP)

1) Which intelligence do navigators and sculptors have? Eﬁib"ﬁ ¥ 59 yeR Ft g@wan 'tﬁ'cﬂ %?
1. Naturalist/ Wﬁ?ﬂfﬂ

2. Spatial/ S

3. Interpersonal/ fadafdas

4. Bodily-kinesthetic/ ARIRG-1fdw @Tsel-Hwfe®)

Correct Answer :-

. Spatial/ RITF®

2) is the method that studies growth by observing and measuring the same individual for a variable period, during his/her growth /

T8 faftr g Ry foht safaa &t ST 9 & ERM, var ulkada=ita srafyr & firg war safe &1 Reror 3R Aras $d
§U o faa simar 81

1. Mixed Method/ foIf3re fafdr

2. Longitudinal Growth/ &ﬂ%‘iﬁq@

3. Cross Sectional Growth/ 1 3ﬂ‘l-ﬂ7ﬂ'q CEaL]
4. Extended Method/ fTaaia fafey

Correct Answer :-

« Longitudinal Growth/ aa%?ﬁq@

3) Success is most crucial in school performance because it helps the child / CEIGRED ﬂﬂh ﬁ, THhad a9 w % wqife 3'\"1'\& T
3! e o wee frerdt 2:

1. show his knowledge over other students / 3= EIFIED HH& 3T BB Q—Q"\’h

2. passing the examination / qﬁ&ﬂ qrg bAT1

3. winning Prize / RIDPR St

4. feel more Confident about learning / JferT & dey H 3ifds GTW%’HW HeH AT
Correct Answer :-

+ feel more Confident about learning / ITRTH & HaY § 3% SMEfay™ HgqH H=1

4) Infants at an early stage are highly ./ TR SrawT | ﬁT{[ Jaftp_ g gl
1. Extravert / SfgH!

2. Unselfish /ﬁW’d

3. Egocentric /W%ﬁ@a

4. Altruistic / TRITHRI

Correct Answer :-

« Egocentric / Tdhf<d

5) Conventionally, how many types of needs are explained in Maslow’s theory? | TRURY® ¥4 A, AR & Rigia # fovan yor &1
ragEarsdi i afofd fear mar g2

1.2



2.6
3.5

4.3

Correct Answer :-

6) An extrovert child would:/ T aﬁﬂ@ CECl) hT _EaTIT:

1. Tend to think things through inside your head./ MY iR A 4 fefa= &I uqd Gl
2. rather just observe./ Sfedh Ry e

3. Think more and talk less./31fd feid 3R ST &1 BRI

4. Like to be in a fast-paced environment./f‘ﬁa EIRICEU K| e TG G|

Correct Answer :-

« Like to be in a fast-paced environment./<1g ATATARUT & g1 UHE B |

7) The term personality has been derived from / fTea’ (uwf#rf%l?ﬂ) v 9 g A ferarman @:
1. None of the above /G'Wjaﬁﬁ BEIERE]

2. Greek / afl'ltﬁ

3. Latin / Qifed

4. German / ST

Correct Answer :-

« Latin/Qfeq

8) The assessment results from personality based projective tests are ./ SafaTea smuTia aiﬂ'q'Fﬁ THeon W ¥ ufvoma
g

1. Foolproof/ 9Xdl
2. Controversial/ f[daTgrug
3. Futile / 9%

4. Objective / TS
Correct Answer :-

« Controversial/ f[darereg

9) The child worries almost everyday about getting hurt. This is because of ./ TR B A9 T & IR H T gfafes fiar gt %I
TADT HRUT 7

1. Autism /EFﬁ:R‘lT (&Iﬁ?\_rq)

2. Attention Deficit Hyperactivity Disorder / ST-THTG Td K IRRIERGIRTEAN
3. Anxiety Disorder / IECICEIR

4. Learning Disability / {fORTH 3{&adT

Correct Answer :-

« Anxiety Disorder / IEGIREEZR

10) Which of the following is not an individual difference likely to affect learning? / fafafead ¥ s ar Uh IR 3R Tﬁﬁ% il
HHTIA: FRATH T gUTRIT B AFHar 82

1. Body mass / X IR gTH™=

2. Intelligence / m

3. Experience / 3{JHd



4. Motivation / 3{fHORTT

Correct Answer :-

« Body mass / IR GTHAH

11) Which of the following is a personality test created by Cattell? / Frafeafad # @ 19 91 $ed gRT duR fFar T afera udheor g2
1. Sentence Completion Test / AT IIUTFIT e

2. NEO-FFI / TS 3f1-Uh U (TS
3. Sixteen Personality Factors Questionnaire / Tierg Afadd HRE Tt (mﬂ’ﬂﬁ:{ et WM)

4. Locus of Control / 0N &1 f&&HHI (cierd 3T dHela)

Correct Answer :-

« Sixteen Personality Factors Questionnaire / Tierg Afadd HR® HHTae (ﬁﬁméh TS e a%m‘ﬁm)

12) In an aptitude test, any estimate of a person’s future possibilities of accomplishment is ./ Th LI GIR T fo ) ﬁ, et afa s
yfawr 91 Iuafeal &Y Furars &1 $13 ot srguE gl

1. a probability/ T HHTGT
2.a certainty/@ﬁfm
3. a question/ U UH

4. an assumption/ b YRUM

Correct Answer :-

« a probability/ Tdh HHTGAT

13) Moving from examples to generalization is: / ISTERUN | YTHTHIHVT FT 3R dedT %z

1. Correlation / I8-gaY

2. Inductive / 3NTHATHD

3. Incidental / 3{TH RIS

4. Deductive / TS

Correct Answer :-

« Inductive / 3RTHATHD

14) Bandura believed in Reciprocal Determinism. This means that: / 3@?1 URWRS ﬁ'q?ﬁﬁ - ﬁm mﬁ g EXCd) 3 %:
1. The environment and one’s behaviour cause each other, / GRAY G'hT foeddt &1 dgRR W-@ & HRUT ST %I
2. One’s environment causes one’s behaviour. / T &7 uﬁé‘ﬂ, ERikd HdgR & HR Tl % |

3. One’s environment remains unaffected by one’s behaviour. / fedts RIS T fpa) o1 uRawr sguifad Xedl %l
4. One’s behaviour is independent of one’s environment. / IEZsikal AER, o<t & uRaw 4 wda % |

Correct Answer :-

« The environment and one’s behaviour cause each other. / TRAR GHT fdt @1 IdgR W—@ﬂ% H PR SdT %I

15) Memory is measured by the method of / F{f?l & f faftr 3 \rar e 8:

1. Reproduction (recall) / T2 TG m T ATE BT
2. Interview / HI&TDHR

3. Observation / 3d@HT

4. Experimentation / Ppin|

Correct Answer :-

« Reproduction (recall) / Tl (ﬁaﬁﬂ g arg EXGI))



16) What is the term used to describe the negative attitudes that people have towards an individual based on their sex? / TPRIHP Hicauii

F1 90 T & e fora g &1 IuaiT fman <iran 2, R @i 391 i1 & snuR o it aafaa & o v 82
1. Patriarchy / ORI

2. Gender roles / STfaTTd YfHHTE

3. Sexism / fefTag

4. Socialization / GHTGITEHUT

Correct Answer :-

o Sexism / ﬁmﬂ’c{

17) What is the term that Piaget used to describe imitation carried out with parts of the body that one cannot see? / 9 RMeq HIT % foraeT

IR forrst 3 TR & 3 fowdl & |1y &1 1€ Toa 31 9l 31 & g [ 8, o 91 < 16 wopar o2
1. Invisible imitation / 3/€RY Ah

2. Spatial imitation / S THa

3. Visible imitation / GRI-1d Febel

4. Model imitation / FlSd &b

Correct Answer :-

« Invisible imitation / /€Y dh A

18) One’s heredity is determined at the timeof ./ fedi w5t \’rﬂf[aﬁTﬁ'l - F gug R Fuia S et 31
1. Maturity / gfuedr

2. Conception / MR

3. Growth / fowrg

4. Birth / ST H

Correct Answer :-

« Conception / e

19) Counselling involves _ / Rt A - i gt g

1. consultation and interchange of opinions between counsellor and the individual / W'QT—Q"IT‘IT 3R fd & o= fa=Rt &1 SHTgIH-UgrH 3R gr=f
2. advice from counsellor to the individual only / Had Afad B Wﬂ?faﬁﬂ I qdlg G|

3. problem sharing by the individual with the counselor only / HId RIARIETAT & W1 o GRT THAT A1 HIAT

4. schools identifying issues with children with needs / SRS q1d S o Y 'ﬂi}f D1 UgdH B Tl faemerd

Correct Answer :-

« consultation and interchange of opinions between counsellor and the individual /ITITI'J:I'-‘ZT'Q"IT‘IT 3R cafed & g Rl &1 HlgIH-UalH 3R qRTE=f

20) Vocational training to persons with locomotor disability is more related to domain. / SrbTAYeR faaivmar aret safaaay &1
AR URRI&or ST | 3iftre wafa 71

1. cognitive / GHTH®
2. none of these / 3:@ I @'&F :ﬁ)f

3. affective / THTE!

4. psychomotor / BSIECA LI
Correct Answer :-

« psychomotor / S| G )

21) Social learning theory was proposed by: / ATHTI® SfERTH Rygia 3% GIRT U fobaT T o



1. Freud / TS

2. Bandura / ST
3. Skinner / PR
4. Pavlov / UTG@Id

Correct Answer :-

« Bandura / SIgRT

22) Socially immature students are known as students. / TP ¥U F Uf¥us ST B BE & ©q H ST Srar %I
1. Dependent / Rk

2. Alienated / STCTT-YSIT

3. Phantom / 3TTHTE

4. Social / FTHTID

Correct Answer :-

« Dependent / Rk

23) Social knowledge is obtained through ____ from other people. / 310 e - & T J JTHIS J14 UTed fHar srar =
1. Feedback / PIRIER] (qﬁ?;%ao‘)

2. Discouragement / glaTg

3. Encouragement / uﬁ?m’s’:f

4. Logic / ab (ﬂm

Correct Answer :-

« Feedback / Ufdfehar (qﬁeé@

24) According to Gardner, spiritual intelligence is /MR F SR, 3reaTfare AfgHars:

1. the ability to perform transformations on one’s initial perceptions / el Bt URfires eRomaf & uRad= B Bt &HT

2. the ability to contemplate big questions about the meaning of life / e & 3%'52'5{ & day H Sfca gawmell R AR &= & e

3. the ability to make distinctions in the natural world / w gﬁm T faug & & gmar

4. the knowledge of one’s own strengths, weaknesses, desires and intelligence / 30T T B QTW, mﬁ{ﬁ, sﬂwﬁ G‘ﬁT §@TIT'1T DI

Correct Answer :-

« the ability to contemplate big questions about the meaning of life BEicRk:d 3%3?1 & Ty T Sifed gHwmell R faaR oA & eid

25) Formative assessment is: /WW%:
1. A process that does not involve value judgement /wmﬁmﬁ HTGRT YR (éagaaﬂ"c') TZIT&IT*TT@%I

2. Performed by evaluating student learning by comparing with a benchmark / W@%WQ{WWW W%WWWW
ST g

3. Used for rating the learner through high-point valuation / 3=-®Ifc HAip ¥ A 9 Rremff (?“Fh) B! grvgar fuika S & forg ISuaiT faar wman
Bl

4. Less beneficial for the teacher as it does not help to know the weaknesses and strengths of a learner / QT&W * ﬁfq 3T dR dTHUG % aﬂ%u‘gﬁ&mﬁ
(@R) & T[0T 3R &Y Bl - H A, Tef el g |

Correct Answer :-

« A process that does not involve value judgement /wmﬁmﬁ et g (a?{frﬁlﬁ?) mﬁaqﬁél
26) The role of the teacher in a progressive education is that of a / Th wTfa=ita Rren # e 3&@ 'H:fbﬁv—[%

1. Disciplinarian / 3{JRMHD
2. Instructor / ARI&H



3. Guide / ANTGRID
4. Lesson planner / T3 RISEIEARN

Correct Answer :-

« Guide / ATfeRf®

27) According to research, peer-assessment is valuable because / ‘\’h’ﬂa? SR, quwﬁm%m
1. it encourages competition among the students /%W%ﬁauﬁwﬁﬁmm%l

2. pupils may accept feedback from one another on their work / 9T 3T HTH W Tdh @3\’ T yfafpar urd &% Iod %'I
3. students know their rank in the class /@'ﬁ$&ﬂﬁ @Fq:ﬁww%l

4. it reduces workload for teachers to assess the students / g BE P H\FCIW & 1%1? Rrerml & CaK] Eﬁ%? I HH Hdl %I

Correct Answer :-

« pupils may accept feedback from one another on their work / ST 30 HTH W Th §¥|i’ T yfafpar urd o Tad %I

28) According to Fabiano, Pelham, Manos, Gnagy et al. (2004) an effective means of reducing disruptive behaviors including aggressiveness,
destruction of properties and non-compliance in the classroom is?

/ Bfaar, tagd, 99, 19 TE 3d (2004) F AR, BT H MBS T, TUIHT $T fAA7=1 3R AR-3rgura-T |fga fgesrt
AR P! HH P PT TP YHTE! A8 =1 82

1. Time —out (TO) from positive reinforcement / YHRTHD {j,EGnICb‘{UI J T2H-3{3e (é)f\}h)
2. Time —out (TO) in the classroom / HET T TlgH-3M3e (Ep[3h)
3. Corporal punishment / ¥ IR® &

4. Detention / FRYY

Correct Answer :-

« Time —out (TO) from positive reinforcement / FHRTHD WUT J TIZH-3M3C (aﬁh)

29) sometimes, children are dissimilar to both the parents. This is because of the Law of . HH-sH ﬂﬁ, Hrar-foear ?ﬂ:ﬁ T 3T 3-1%
FIw__ FaudrsRugargl

1. Segregation / GYdhUT
2. Variation / fafdear
3. Dominance / ¥4
4. Regression /D?ﬁmm?

Correct Answer :-

o Variation / fafaemar

30) In Sternberg’s theory of intelligence, which of the following steps involve finding a solution to the problem? / W*g@":ﬁﬂ F ﬁl@'ﬁl ﬁ,

FPraffaa & 3 fora avor & T 1 TATT a1 M 72
1. Application / 3N (TR RH)

2. Mapping / Sfafersor @ftm)

3. Encoding / Sda (ZAHIET)

4. Response / Tffora (Redr=a)

Correct Answer :-

« Response J afaferar (hWTR‘D

Topic:- General English(L1GE)

1) Fill in the blanks with the correct option in the given sentence:

| grew up in a spot-- house, but apparently cleanli-- isn’t an inherited trait.



1. -- ting ... --ship
2. --ted ... —-ing
3. --able ... --hood

4, --less ... --ness

Correct Answer :-

e --less ... --ness

2) Fill in the blanks with appropriate determiners to complete the given sentence:
What did youbuy? _ !Tcouldnotfind I wanted.

1. Anything, none

2. Nothing, anything

3. Any, nothing

4. Something, something

Correct Answer :-

« Nothing, anything

3) Fill in the blank with the correct option in the given sentence:

A person whose thyroid gland secretes deficiently is suffering from -- thyroid condition.
1. hyper

2. hypo

3. sub

4. mal

Correct Answer :-

4) Choose an appropriate modal for the given sentence:

The baby fell off the cot. You _______ have been watching the baby.
1. can

2. might

3. would

4. should

Correct Answer :-

e should

5) Choose the most suitable pronoun for the given sentence:

I am going to the theatre with my friends. Would you like to join ?
1. me

2. we

3.us

4.1

Correct Answer :-

6) Choose the appropriate tense to fill in the blank in the given sentence:

They in that house for seven years.



1. was living
2. have been living
3. has been living

4. has lived

Correct Answer :-

e have been living

7) Choose the appropriate tense to fill in the blank in the given sentence:
‘We cannot organize the show if it

1. will rains

2. rains

3. rained

4. had rained

Correct Answer :-

« rains

8) Choose the appropriate conjunction for the given sentence.
The bus was delayed the traffic.

1. resulting

2. due to

3. because

4. before

Correct Answer :-
e dueto

9) Choose the appropriate antonym for the highlighted word in the given sentence.

The resilience of certain plants allows them to thrive in the desert.
1. grow

2. perish

3. flourish

4. blossom

Correct Answer :-

e perish

10) Choose the appropriate option that rewrites the given sentence in its passive voice.
Had he seen you at the party?

1. Was he seen by you at the party?

2. Were you being seen by him at the party?

3. Were you seen by him at the party?

4. Was you seen by him at the party?

Correct Answer :-

« Were you seen by him at the party?

11) Choose the appropriate synonym for the highlighted word in the given sentence.



Changes in modern lifestyle means that for many families, it is no longer eating together, but shopping that bonds them as a family, at least at the
weekends.

1. separates

2. enslaves

3. links

4. wires

Correct Answer :-

o links

12) Choose the appropriate prepositions for the given sentence:
___ pregnancy, extra supplements are needed ____the growth _____the fetus.
1. In..for..in

2. At ...for ..around

3. During ... for ... of

4. For ... to ...in

Correct Answer :-

e During ... for ... of

13) Choose the option that best explains the highlighted expression:
The misappropriation of certain funds by our manager had come to light.
1. to be caught by the police

2. to be remanded

3. to become known to people

4. to be detained under custody

Correct Answer :-

* to become known to people

14) Choose the option that substitutes the given phrase appropriately.
A part of a continuing story on television is a/an

1. serial

2. segment

3. episode

4. soap

Correct Answer :-

15) Choose appropriate article for the given sentence:
children like pastries of all flavors.

1. A

2. An

3. No article

4. The

Correct Answer :-

« No article

16) Choose appropriate articles for the given sentence:

For ages, one of ___longest cultivated plant foods, beans have been ___ part of most cuisines.



1. the..a
2. the ... the
3. a... no article required

4. no article required ... a

Correct Answer :-

e the..a

17) Which of the following options best combines the given sentences?

He is rich. He is not happy.

1. In spite of being poor, he is happy.

2. Though he is rich, he is not unhappy.
3. Although he is not poor, he is happy.

4. He is not rich, but is not unhappy.

Correct Answer :-
« In spite of being poor, he is happy.

18) Read the sentence carefully and choose the option that has an error in it:

Antibiotics works when they are administered early.
1. when they are

2. administered early.

3. Antibiotics

4. works

Correct Answer :-

e works

19) Read the following passage and answer the question given below:

Perception is strongly influenced by attention. Unfortunately, if you daydream during a lecture, little or nothing will reach your brain. Attending is
not always easy, so so you take notes and make conscious efforts to remain alert. Did you notice an error in the previous sentence? You probably
were concentrating on the content and although your eyes saw the word so repeated twice, you ignored it. Similarly, you were probably not focusing
any attention on your thumb until you read this sentence. You simply cannot attend to every stimulus around you, so only certain things are
selected. Have you ever driven your car on a highway with the needle pointing to a near empty tank? Chances are you become preoccupied with the
location of gas stations. Another day when your tank was full but your stomach empty, the gas stations might have been overlooked, but every diner
and restaurant would have caught your eye. Attention is usually focused on needed things.

According to the author, we usually concentrate on:
1. Much needed things

2. Daydreaming

3. Random things

4. What we are expected to pay attention to

Correct Answer :-

« Much needed things

20) Read the following passage and answer the question given below:

Perception is strongly influenced by attention. Unfortunately, if you daydream during a lecture, little or nothing will reach your brain. Attending is
not always easy, so so you take notes and make conscious efforts to remain alert. Did you notice an error in the previous sentence? You probably
were concentrating on the content and although your eyes saw the word so repeated twice, you ignored it. Similarly, you were probably not focusing
any attention on your thumb until you read this sentence. You simply cannot attend to every stimulus around you, so only certain things are



selected. Have you ever driven your car on a highway with the needle pointing to a near empty tank? Chances are you become preoccupied with the
location of gas stations. Another day when your tank was full but your stomach empty, the gas stations might have been overlooked, but every diner
and restaurant would have caught your eye. Attention is usually focused on needed things.

In the passage attending means?
1. Waiting

2. Attending classes

3. Paying attention

4. Observing

Correct Answer :-
« Paying attention

21) Read the following passage and answer the question given below:

Perception is strongly influenced by attention. Unfortunately, if you daydream during a lecture, little or nothing will reach your brain. Attending is
not always easy, so so you take notes and make conscious efforts to remain alert. Did you notice an error in the previous sentence? You probably
were concentrating on the content and although your eyes saw the word so repeated twice, you ignored it. Similarly, you were probably not focusing
any attention on your thumb until you read this sentence. You simply cannot attend to every stimulus around you, so only certain things are
selected. Have you ever driven your car on a highway with the needle pointing to a near empty tank? Chances are you become preoccupied with the
location of gas stations. Another day when your tank was full but your stomach empty, the gas stations might have been overlooked, but every diner
and restaurant would have caught your eye. Attention is usually focused on needed things.

The title for this passage is:

1. How Hunger Distracts Attention

2. The Relationship between Perception and Attention
3. Perception

4. Daydreaming

Correct Answer :-

« The Relationship between Perception and Attention

22) Read the following passage and answer the question given below:

Perception is strongly influenced by attention. Unfortunately, if you daydream during a lecture, little or nothing will reach your brain. Attending is
not always easy, so so you take notes and make conscious efforts to remain alert. Did you notice an error in the previous sentence? You probably
were concentrating on the content and although your eyes saw the word so repeated twice, you ignored it. Similarly, you were probably not focusing
any attention on your thumb until you read this sentence. You simply cannot attend to every stimulus around you, so only certain things are
selected. Have you ever driven your car on a highway with the needle pointing to a near empty tank? Chances are you become preoccupied with the
location of gas stations. Another day when your tank was full but your stomach empty, the gas stations might have been overlooked, but every diner
and restaurant would have caught your eye. Attention is usually focused on needed things.

Which statement expresses the main idea of the paragraph?

1. Unfortunately, when students daydream during lectures, nothing will enter their brains.

2. Perception is strongly influenced by attention, which is usually focused on needed things.
3. You’ll not notice any error if you are concentrating on the content.

4. If you are hungry, you’ll focus on eating.

Correct Answer :-

« Perception is strongly influenced by attention, which is usually focused on needed things.

23) Read the following passage and answer the question given below:

A long sausage in a bun received the name “hot dog” in 1906 as the result of a cartoonist’s poor spelling ability. A sausage vendor, Harry Stevens,
sold what he called “dachshund sausages”, (named after the short-legged dog) at New York City baseball games. During one of those games,
newspaper cartoonist Tad Dorgan was in the audience. He sketched a cartoon of a live dachshund, smeared with mustard and folded into a bun. Not



knowing how to spell “dachshund”, however, he settled on “dog”, giving the cartoon the caption “Get your /ot dogs!” Once the cartoon was
published in newspapers, readers began demanding their own “hot dogs”.

The main idea of the passage is expressed in the
1. first line

2. last line

3. nowhere

4. in the middle of the passage

Correct Answer :-

o first line

24) Read the following passage and answer the question given below:

A long sausage in a bun received the name “hot dog” in 1906 as the result of a cartoonist’s poor spelling ability. A sausage vendor, Harry Stevens,
sold what he called “dachshund sausages”, (named after the short-legged dog) at New York City baseball games. During one of those games,
newspaper cartoonist Tad Dorgan was in the audience. He sketched a cartoon of a live dachshund, smeared with mustard and folded into a bun. Not
knowing how to spell “"dachshund”, however, he settled on “dog”, giving the cartoon the caption “Get your /ot dogs!” Once the cartoon was
published in newspapers, readers began demanding their own “hot dogs”.

The term hot dogs was first used by
1. baseball fans

2. Harry Stevens

3. the cartoonist

4. the vendor

Correct Answer :-

« the cartoonist

25) Read the following passage and answer the question given below:

A long sausage in a bun received the name “hot dog” in 1906 as the result of a cartoonist’s poor spelling ability. A sausage vendor, Harry Stevens,
sold what he called “dachshund sausages”, (named after the short-legged dog) at New York City baseball games. During one of those games,
newspaper cartoonist Tad Dorgan was in the audience. He sketched a cartoon of a live dachshund, smeared with mustard and folded into a bun. Not
knowing how to spell “"dachshund”, however, he settled on “dog”, giving the cartoon the caption “Get your /ot dogs!” Once the cartoon was
published in newspapers, readers began demanding their own “hot dogs”.

Choose the option nearest in meaning to word vendor.

1. Seller

2. Buyer

3. Purchaser

4. Manufacturer

Correct Answer :-

o Seller

26) Read the following passage and answer the question given below:

A long sausage in a bun received the name “hot dog” in 1906 as the result of a cartoonist’s poor spelling ability. A sausage vendor, Harry Stevens,
sold what he called “dachshund sausages”, (named after the short-legged dog) at New York City baseball games. During one of those games,
newspaper cartoonist Tad Dorgan was in the audience. He sketched a cartoon of a live dachshund, smeared with mustard and folded into a bun. Not
knowing how to spell “"dachshund”, however, he settled on “dog”, giving the cartoon the caption “Get your hot dogs!” Once the cartoon was
published in newspapers, readers began demanding their own “hot dogs”.

What is the tone of the passage?



1. Sarcastic
2. Detached
3. Light hearted

4. Nostalgic

Correct Answer :-
« Light hearted

27) Choose the right tag:

You are a basket ball player, ?
1. do you

2. are you

3. aren't you

4. were you

Correct Answer :-

« aren't you

28) Choose the right tag:

‘We wanted to go to the museum early,  ?

1. didn’t we

2. weren’t we

3. should we

4. isn’tit

Correct Answer :-

e didn't we

29) Choose the correct option to indicate the indirect speech of the sentence:
The teacher said to the students, ‘Please wait here till I return.’
1. The teacher said to the students to wait there till she returned.

2. The teacher requested the students to wait there till she returned.
3. The teacher requested the students to wait there till she will return.

4. The teacher said that the students should wait there till she returned.

Correct Answer :-

e The teacher requested the students to wait there till she returned.
30) Fillin the blank with the correct option to complete the sentence.
His command

1. has promptly obeyed

2. was promptly obeyed

3. promptly obeyed

4. is promptly obey

Correct Answer :-

« was promptly obeyed

Topic:- General Sanskrit(L2GS)



1) CANCELLED
| THTHATHTHA
| THAGHIA I+ ITHT+3T+H

SHIHOT+I+3T+H
3.

faoT+uT+ad
4, = =
Correct Answer :-

| GHSH T+ H+3T+

2)

UR=ade UTScdr UBETEd ?_Lagdgcdi qIad -

Ty ait: | 9 9 3fd AR faggd | 3 IR Ul dfed | gd
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